World History Benchmark #3 




Matching (1 point each)

	1. Militarism

2. Nationalism

3. Imperialism

4. Alliances

5. Assassination
	a. A love for ones country, to the extreme

b. To murder (a prominent person) by sudden or secret attack

c. The building up of arms, often caused by other countries building up their arms
d. The belief that ones government system is superior and therefore your country has the right to rule over other people groups

e. The agreement of two or more countries to defend each other in the event of attack

	6. Franz Ferdinand

7. Fourteen Points

8. Schlieffen Plan

9. Gavrillo Princip

10. Zimmerman Note
	a. Assassinated the Archduke of Austria-Hungary
b. The Heir to the Austrian throne

c. Woodrow Wilson’s plan for peace

d. German proposal to draw Mexico into the war

e. German strategy to defeat France first then Russia

	11. Industrialization

12. Cottage Industry

13. Poland

14. Austria

15. D-Day/Operation Overlord
	a. The first country Hitler took over
b. The invasion of this country is marked as the beginning of WWII

c. The development of industries in a country or region on a wide scale
d. The Allied invasion of France

e. A business or manufacturing activity carried out in a person’s home

	16. Manhattan Project
17. General MacArthur

18. Beninto Mussolini

19. Winston Churchill

20. Dwight Eisenhower
	a. Italian leader known as Il Duce
b. Prime Minister who rallied Britain to fight against the Nazi aggression

c. Supreme Allied commander in Europe

d. The US project to complete the atomic bomb

e. Supreme Allied commander in the Pacific


Match the following countries to their alliances in WWI or WWII. The answer choices can be used more than once, or not at all. 
	21. Germany in World War I

22. United States in World War II

23. Italy in World War II

24. Russia in World War I

25. Japan in World War II

26. England in World War I

27. France in World War II

28. Austria- Hungary in World War I
	a. Central Powers/Triple Alliance

b. Allied Powers

c. Axis Powers

d. Entente Powers/ Triple Entente


Multiple Choice (1 Point Each)

Use the picture below to answer the following question.
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According to the political cartoon, the White Man’s Burden is best described as: WH.H.7.2

a. Primarily white countries such as Great Britain were economically weighed down by their colonies. 
b. The responsibility of colonized countries to their mother country in providing economic support in the form of raw materials. 
c. The responsibility of primarily white countries such as Great Britain to bring colonized countries such as India, China, and African countries to overcome uncivilized ways.
d. The White Man’s Burden was a fictional issue created by white countries such as Great Britain to mask their guilt over imperialism.
Use the passage below to answer the following question.

Every revolution is the work of a principle which has been accepted as a basis of faith. Whether it invoke nationality, liberty, equality, or religion, it always fulfills itself in the name of a principle, that is to say, of a great truth, which being recognized and approved by the majority of the inhabitants of a country, constitutes a common belief, and sets before the masses a new aim, while authority misrepresents or rejects it.
Source: Thomas E. Hachey and Ralph E. Weber, European Ideologies since 1789: Rebels, Radicals and Political Ferment, repr. (Malabar, Fla.: Krieger, 1979), 33–36.
30. The passage above best illustrates the power of which of the following? WH.H.7.2

a. Capitalism

b. Industrialization

c. Nationalism

d. Urbanization

31. Which of the following was NOT a factor of production? WH.H.6
a. Land

b. Military

c. Capital

d. Labor

32. After 1880, European nations sought colonies in Africa primarily because the Europeans were WH.H.7.3 
a. in need of land for their surplus populations 

b. competing of raw materials and markets 

c. determined to bring Christianity to the Muslim world 

d. interested in completing their geographic knowledge of the world

33. During the Industrial Revolution, factories that were built near natural resources and transportation routes promoted which of the following? WH.H.6.4
a. Alliances and Imperialism

b. Nationalism and Alliances

c. Migration and Urbanization

d. Militarism and unequal treaties

Use the excerpt below to answer the following question.

Capitalism: — a social political-economic system characterized by individual or corporate ownership of capital goods, by investments that are determined by private decision, and by prices, production, and the distribution of goods that are determined mainly by competition in a free market
Socialism: — a political-economic system of social organization in which the means of producing and distributing good s is owned collectively by the community and is administered and distributed by a centralized government
34. Which statement differentiates capitalism from socialism? WH.H.7.5
a. Capitalism requires redistributing resources from the rich to the poor; socialism requires government distribution of resources. 
b. Capitalist employment is directed by the government; socialist   employment is directed by individual initiative. 

c. Capitalist pricing is based on competition; socialist prices are determined by market forces. 

d. Capitalism requires individualism and competition; socialism requires governmental planning to distribute resources. 
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Use the picture beside to answer the following question.

35. What was the goal of the Berlin Conference? WH.H.7.2
a. Germany dividing Africa up for it's resources
b. Germany forms an alliance to go to war with Britain over African resources
c. Peaceful division of Africa between European powers
d. Cutting Africa into pieces based along existing ethnic lines. 

36. What was the effect of the Opium Wars on the Chinese Government? 

a. Strengthened by uniting the Boxers against a common enemy

b. Weakened due to inability to foreign influence and power

c. Strengthened because of defeating the British

d. Weakened due to wide spread corruption involving the Opium trade. 

37. Which of the following is NOT an example of Imperialism?

a. Germany fighting France to establish a country for all German peoples

b. The United States annexing Hawaii to establish a coaling station in the Pacific

c. England building the Suez canal and then taking control over Egypt for better access

d. Russia forcing the native peoples off of their land and further East into Siberia to establish access to oil.

38. Which of the following describes Germany’s position for much of World War I?

a. All of Germany’s military efforts were focused on Serbia

b. Germany faced a war on two fronts

c. Germany did not have a military strategy for this war

d. Germany was a neutral country

Use the picture below to help answer the following question
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39. The Open Door Policy was established by the United States in order to guarantee all nations had? 

a. Adequate Weapons in order to fight and defeat China

b. Representation at the Berlin Conference over how to divide China between Europeans

c. Access to Chinese markets for trade

d. To fight over access to China during the Opium Wars

40. Woodrow Wilson’s chief goal at the peace conference was to 

a. Make Germany pay for the war it caused

b. Strip Germany of its overseas possessions

c. Create a League of Nations

d. Isolate all countries and make sure no alliances would occur again

41. World War I was a “total war” in the sense that 

a. It brought great suffering to civilians

b. Nations from all over the world were involved

c. The nations involved devoted all their resources to it

d. New technologies played a large part in the war

42. Why was it difficult to gain an advantage over the enemy in trench warfare?

a. No soldiers died

b. The machine gun made it nearly impossible for troops to advance

c. Too few soldiers were willing to kill enemy soldiers
d. None of the above

43. How did the Treaty of Versailles affect Germany?

a. It stabilized the German economy

b. It left Germany weakened, although still a great military power

c. It left Germany humiliated and resentful

d. It allowed Germany an easy reconciliation with its neighbors

44. Russian troops withdrew from World War I because

a. Great Britain became neutral

b. Submarine warfare disrupted trade

c. The United States entered the war

d. Communists led by Lenin overthrew the government

45. Why was the archduke of Austria-Hungary assassinated?

a. Austria- Hungary was set to invade Serbia

b. The assassin wanted Serbia to become independent

c. The archduke had denied the Slavs a voice in the government

d. The archduke was hated by everyone

46. By attacking Austria in May 1915, Italy

a. Betrayed Germany and Austria

b. Helped knock Russia out of the war

c. Won the war

d. Became a world power

47. All of the following were causes of the Great Depression EXCEPT
a. Unbalanced foreign trade

b. Easy credit

c. Economic cooperation among nations

d. Uneven distribution of wealth

48. Which of the following helped Adolf Hitler gain power in Germany?

a. The promise of a new democracy

b. Big business and labor unions

c. Supporting Stalin’s economic plans

d. The Great Depression in the US

49. What event brought the US into World War II?

a. The German’s bombing Great Britain

b. The Japanese attack on Pearl Harbor

c. The Soviet invasion Finland

d. The Italian assault of Ethiopia

50. German Blitzkrieg was a military strategy that depended on what advantage?

a. System of fortifications

b. Waiting on the opponent

c. Surprise and overwhelming force

d. Ability to make a long steady advance

